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ist the four kinds
()  Comment of the order Galliformes
Question Four: .

(a)  State three adaptation of birds for survival.
(b)  Comment on the order Insectivora.

(c)  State the types of Biodiversity.

Question Five:

(a) Enumerate three causes of Biodiversity loss
(b)  Define the term Metazoans

(c)  Draw the carbon cycle

SOLUTION SET TO BIO 102/104 EXAM: 1999/2000
Question one:

(@) Margulis and Schwartz in 1982 proposed a system which use five kingdom, a
procariotic and encaroutic ;

(b)  Metameric segmentation is seen in metazoans which are segmented internally and
externally e.g earthworm

(c) Acrania
(d) Cranatia
Question Two

(@) Poikilothermic organism are those that are cold blooded while Homoiethermic are
warm blooded e.g aves

(b)  Subclass elasmobranchii

Subclass Teleosteinesteichytes

(c) Cartilagirous fish is advanced more ‘nan other chordate 4u= ‘o the fact that they:
Possess movabie jaws
Possess paired reproductive organs
Possess paired lateral fins
Question three:
(a)  They are tailed amphibian like Newt and Salamanda
Frequent evolutionary trend known as Neoteny
Possession of short legs and varying trunk movement, therefore sluggish

(b)  Contour
Flight
Down
Filoplume

(c) Orqer galliformes includes turkeys, peacocks, and fowls. They possess beak, short
feather with after shaft feet adapted for scratching.
Question four:

(@)  Possession of streamlined bodies which offer minim i
Possession of beak for feeding um resistance
Feet are modified for running, climbing and arranging of nest

(b)  Order Insectivora are small mamm
and other small prey e.g. Hedgedogs.

(c)  Species diversity Genetic diversity
Ecosystem diversity

Question five:

(a) 1. Deforestation: This normally occurs in the tropi

) ropics where several

for fuel, development etc. The worst impact on biodiversity is the Ioss?:r?h ag@tc;r?hsuch as need
destabilization of tropic Jevel. L

34

als which live mostly in burrow, it feeds on insects

e

This has led to depletion of man ci of living things. The most affected #

those that are used directly as food, by other living things.

iinn- This is the destruction of the ecosystem through the mismanagement of waste

1o . 3 i
l‘rjmdustries and application of agrochemical which have tremendous traits to both terrestrial

and aquatic ecosystem

£ . . .‘e'
(b) Metazoans are a term for all animals whose dies are composed of more than one celli
Multicellular

(c) Air and water CO2z \l

Ri ration Decay
Photosynthesis by plant espi il by
& Algae
1' Respiration Organic compound of
Organic matter of heterotrophs
autotrophs CaCO; as limestone oil,
corals
\ . ) /
| Consumed by i
I Heterotrophs
THE CARBON CYCLE

FEDERAL UNIVERSITY OF TECHNOLOGY, OWERRI SCHOOL OF SCIENCE
DEPARTMENT OF BIOTECHNOLOGY
2013/2014 RAIN SEMESTER EXAMINATIONS TIME: 1 2 Hours
COURSE: BIO 102/104: Biology for Agric. and Biological Sciences Il
INSTRUCTION: ANSWER ALL QUESTIONS; PART A IS COMPULSORY
PART A

1. Multicellular animal are also known as (A) multiple cell (B) metazoans (C)schphozoa
(D) Hydrozoa

2. Sponges belong to the phylum (A) Porifera (B) Coelenterate (C) Cubozoa (D)
Platyhelminthes

3. The cartilaginous fish possess .............ccccceueeeennnes scales (A) cycloid (B) placoid
(C) fingerlike (D) Homodont .

4. The release of energy from substances in all living ‘cell is known as (A) respiration
(B) Nutrition (C) reproduction (d) irritability

5. Cloning is best described as (A) a process of obtaining colonies of organism (B) a

sexual reproduction that yields identical organism (C) a process of obtaining un-
‘identical units from a single parent organism (D) production of offspring that are
replica of the parent

6. Hierarchical classification system is based on (A) science classification (B) natural
classification (C) homologous classification (D) artificial classification

8 Angiosperms produces flower and fruit both of which help to ensure (A) longevity (B)
sustenance of plant (C) pollination (D) reproductive success :

8. Angiosperms are often simply called (A) ginkophyta (B)real plant (C) flowering plants




e Of the above . roduction
" are developed in both gymnaspem and angiosperms for reP
{A) flower (B) pollen grains {C) root (D) stamens ' ;
The outer layer of leaves o7 epidenmis protect the plant from (A
cotour (C) decay (D) moisture .
The lqvér\m‘{\.et((\ﬁg e SRR division \A) hepatOPh\ ta g
anthophyta (D) iliate A
Beak is one of the adaptive features of (A) mammals {
Animals with uniform set of teeth are said l© ha)vf'1 .
Heterodon! (B) homodont (C) monodont (D) polydont st 4
Nude‘c.\s:ﬂe ;xhosn;!waw is equatly termed (A) nucieic acid (B) nucleotide (C)c

damage (B) loosing

g) tithcinophyta (C)

B)Aves (C) insecta (D) Pisces
o ... Dentition (A)

hromatid

not possess chloroplast (B) they

vector
| characteristic of the fungi s (A) the do N : .
xgggggﬁﬁcx they depend on other organisms for nourishment (D) they are
] Tpah;arsr:f;e organ in bryophyte is (A) archegonium (B) anthendium € antherizoid (D)
S ences often translate to (A) DNA Molecule (B) mRNA (C) Amino

In genetics, base sequ
acid sequences .
Examples of inanimate player in caf

ecomposer (C) green plant (D) animals , 7
° po ,,,,, ()g ....... p _is an example of positive interaction among
.r;{icroorganfsms (A) Competition (B) Predation ) Mptuallsm (D) pa(asutism_ -
20 Commensalism is an example of (A) positive interaction (B) negative interaction (C)
neutral interaction (D) complex interaction

carbon cycle are (A) vehicles and industries (B)

\d among the verter "¢

SECTIONB o )

1 P S e i e distinguish feature "

2 Bony fishe = s1€ called bony BECIUSE . (caennnernr et =

< PR S |s an example of an amphipiai:

B, s S RS Annelida are also CallEd. . eeeieeeriimrnrreee e

5- ..................................... S is the complementary base of thymine in a mRNA
molecule . N

6 The breakdown of pesticide by a biological unit is known as

7. 1na DNAmolecuIethe Ebﬁiblémentary base of thymine is

8. ........................... |s the phase in the dominant plant in bryophytes

9. The angiosperms which make up the vast majority of modern plant species are

classified in a division called...............oooo-
10.  Lower plant are generally P L= [UUUUUU TSP P PP PR TIELEEL AR

" The pioneers of terrestrial ecosystem are
is the structure or chamb

12, eoeroeneesssisniar sy

13.  Organism that manufacture their own food are called............oooeeeeeees

14.  Symmetry in biology is the balanced distribution Of..........ccocoooeaerinenemrrereeenr e

$5.  ersesssisastase e is the meristematic region along the sides of stem and roots
............................ Producing wood

and bark
17.  Animals with ...

ANSWER FOR 2013/2014 SESSION BIO 102/104 EXAM

PART A
{A 2A 3B 4A 5B 6B 7D 8C 9D 10A 1A 12B

154 16B 17C 18C 19C 20C

13814B

SECTION B ANSWER

36

1. HAIR 2. OSTEICHTHYES 3. TOAD 4. PLATYHELMINTHES (INVERTEBRATES
RWORT 9. FLOWERING

5. ADENINE 6. BACILLUS THURNGENISIS 7. ADENINE 8. LIVE
PLANT 10. CRYPTOGRAMS 11. PTERDIOPHYTA 12. ARCHEGONIA 13. AUTOTROPHS 14.
ORGANISMS 15. APICAL MERISTEM 16. MITOSIS 17. TENTACLES

SITY OF TECHNOLOGY, OWERRI SCHOOL OF SCIENCE

FEDERAL UNIVER
DEPARTMENT OF BIOTECHNOLOGY
STER EXAMINATIONS TIME: 1 2 Hours

2014/2015 RAIN SEME
COURSE: BIO 102/104: Biology for Agric. and Biological Sciences [}
INSTRUCTION: ANSWER ALL QUESTIONS; PARTAIS COMPULSORY

1 Which of fhe following is not a division of the kingdom protista? (A) Protozoa
(B)Phaeophyta (C) Aschelminthe (D) Bacilliarophyta

protein helps in resisting certain infectious diseases.(A) Tryptophan (B)

2.
Carotene  (C) glucanase (D) pathogenesis

3 One of the following is not a nematode parasite on human (A) Ascaris lumbricoides (B)
Hookworms (C) Earthworms (D) Pinworms

4. Possession of a complex muscular system with exoskeleton for attachment, stated muscles for
rapid action, smooth muscles for visceral organs are characteristics found in (A) Echniderms (B)
Mulluscs (C) Arthropods (D) Nematodes

5. An important feature of angiosperm reproductive strategy which is a nutrient store that sustains
the developing plant embryo is (A) Micropyle (B) Endosperm (C) Pollen grains (D Seed

6. Angicsperms produce flowers 31 fruits, both of which h2iz ensure (A) Photosynthesic (B)
Reproductive success (C) Tr: 1.0 ation (D) Continuity :

7. The foljowing are examples of positive interaction amongst biological populations (A}
Neutralism (B) Synergism (C) Commensalism (D) Antagonism

8. ‘ is an example of control measures adopted in prevention of plant diseases. (A) erosion
(B) tapping (C) pollution (D) sanitary practices.

9. Bryophytes show an advancement over algae by the development of (A) spores (B)
antheridia (C) flagella (D) distinct alteration of generation.

10. e is a free living Platyhelminthes (A)Tubellaria (B)Tapeworm (D) earthworm

11; —-—---—'--is a structural adaptation for parasitism in trematode (A) Possession of skeleton (B)
pos;sessmn of organ for adhesion such as suckers (C) Possession of Antenna (D) possession
coelom

12, The fore limb of the aves are modified into (A) Claws (B) Hairs (C) Beaks (D) Wings

13 Lateral fin are characteristic of the (A) Aves (B) Mammals (C) Pisces

14, Animal with lips modified into beaks are found in the class of: (A)Aves (B) Reptiliia (C) Amphibians (D)

Mammals

15. Arboreal biotic community is dominated by (A) The amphibians (B) the Mammals (C) Aves (D) Pisces
16. Botanic garden is an example of: (A) In situ conservation strategy (B)convention conservation strategy
(C)Ex situ conservation strategy (D) None of the above

favoring microbial degradation of pesticides (A)

17.  Which of these is not a condition
enzymes (B) Availability of organic matter (C) The

accessibility of toxicant to microbial
nature of the pesticide container (D) Aeration

.
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Crytograms reproduces by .....................

(a) seeds (b) fruits (b) thallus (d)spores

- All are members of kingdom animalia except (a) nematode (b) sponge (c) fungi(d)

Uniramia

Organisms that can produces its own food are regular members of b
plantae (c) chordate (d) Platyhelminthes ta) mycophyta (b)

. Saprophytic adaptation are usually expressed in (a)Algae (b)fern (¢)fungi (d) Mollusca |

: are naked seed plants (a) paim trees (b) Udara seeds (c)

Gymnosperms (d)cryptograms
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10.

1.
12.

13.

14.

15.

16.

17.

20.

.................... " Is the apex of plants diversity (a) Gymnosperms (bJAngiosperms (c)

pollen grains (d) Alage

A student using a light microscope observe a cell and correctly decided that it si a plant

cell because (a) ribosome are visible(b)Golgi Apparatus (c) nucleus (d) nucleolus

An example of phylum bryophyte is .................. (a) flowering plant (b) mosses (c) blue

algae (d) Red algae ‘ _
Chemicals used for preventing the spread of bacteria are known as (a) insecticides
(b) pesticides (c) mulluscocidis (d) disinfectants ‘
Gas exchange In all living organism requires (a) gills (b) lungs (c) tracheoles (d) moist
membrane
In internal structure of a moncot stem the following are present except ................ (a)
cortex (b)xylem (c)Phloem (d)Ray '
Losing water is a major problem for land vertebrates. Which of the following are
adaptations to prevent water loss (a) modified Kidneys and salt glands (b)having
gizzards (c) having elongated caecums (d) having a layer of biubber .
Most seed plants increase their diameter through ------=--—------ growth producing wood
and bark (a) apical (b)meristimatic (c) secondary (d)primary _
Thallophyta include all but..............cooooeeene (a) Algae (b)Fungi (c) mosses (d)lichen
The first seed bearing plants to appear in the fossil record were (a) Hibiscus
(b)Gymnosperms (¢) mango plants (d)none of the above
The following are method that invertebrates have employed to escape predators except
(a0 warning coloration (b) crypsis and camouflage (c) feeding in the daytime (d}
chemical exudates
The foreign gene for improved taste which have been introduced into tomato is known
T T (a) Gerbalin (b) Moneltin (c) Saccharin (d) fructose
The fungi are composed of multicellular i1.:nents called (a) mycelicm (b) Hyphae (c)
spores (d)thallus
The wall degrading enzymes involved ir: . = softening of fruit are (a) Galacturase and
fructuraase (b)ethylene and lycopene (c) -clygalacturoase and pectin methyl esterase
(d) none of the above
Which of the following cellular processes is coupled with the hydrolysis of ATP (a}
facilitated diffusion (b) active transport (c) chemiosmosis (d) Na+ influx into a nerve cell
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12,
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14.

15.
16.
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Animal that kill and devour their prey are called....................coeoeee

Organisms that survive in both land and water are called......cocoeeviniiiinienenns

Plants that thrive in desert environment are called...............oooiiiiniiin
..................................... is the group of mammals that lays eggs
..................................... is key to the Angiosperms life cycle
...................................... is the most successful of all assembled in a ribosome
................................. is a process by which a protein is assembled in a ribosome
.................... is the process that results in the production of DNA from RNA molecule
A process called double fertilization yield .............co.o.o.oo And endosperms
Basidomyota belongs to almost all of the species that produce a
Blood enclosed exclusively in blood vessels and heart is

Fruit ripening involve rapid increase in....................oooe synthesis

In plants initiaion of flowering in response to photoperiod is triggered by changes

On the under surface of the spores of the fern there are a number of dark brown
structures called the ............. TR

Pteridophytes are among the vascular plant and leaves called..............c.c.oeeen

_The Angiosperms which make up the vast majority of modern plan species are classified

The cycle that led man to manage and recycle waste using natural biodegrading
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ganism ig called. ... gy of moss plant is called
18. The mumcq&lular short staked club shaped body ofa .
19.  The red pigment 10 tredled bY......ioowr e 2
Zg, Thz stud‘;gof forms through the ultra-structure of the ca
B i v TR Y s b BSOS
Section C

List four structure of the phdylgm C?:g:::icals
: e a i
Mention four effects CaUEaC Z)fygphyles over thallophytic

1
2.
3. State three advancements O 4
4. Outline four importance of flower in plants
5

List five adaptive features of a mammal
?ECTIgh;A_C 3.C4.C5C6. B7.A8.89.010.B 11.A12.013.8 14.A15.816.B17.A
18.819.B20.B
SECTIOAR! 3. XEROPHYTES 4. OVIPAROUS

1.  CARNIVOROUS 2. AMPHIBIANS N ESIS 6.
5 PTERIDOPHYTES 6 ANTHROPOID 7. PROTEIN S B ETHYLENE

NGI11......
TRANSCRIPTION 9. EMBRYONIC SPOROPHYTE 10. FU o ICOTYLEDONOUS 17.

14. RHIZOPUS 15. COMPOUND LEAVES
;::iﬁdhsmeomnorq '3 BASIDOMYCOTA 19.STV 20 CYTOLOGY
SECTIONC
1 Four structure of the phylum Chordata
The have pairs of pentactyl limt =
The have teeth
The have skeleton
The have a brain

2 Effect cause by agrochemical ‘
Adverse effect on the soil ferity and crop production
Inhibition of nitrogen fixing soil microorganisms
Alteration in nitrogen balance of the soil

Alternation of ecological balance of the soil

3 Advancements of bryophytes over thallophytic _
Bryophytes show advancement over algae by the development of archgonia
Mutticellular antheridia

Distinct alternation of generation

4, Importance of flower in plants
Their seed are structurally modified to facilitate seed dispersal
They are dominant vegetation of the world

Flowering plants help to attract insects! bird and man
Flowerings have a rapid growth

5.  Adaptive features of a mammal
They are warm blooded animal

Their body is covered with skin and hair
The have different kind of teeth

The have mammary gland
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DEPARTMENT OF BIOLOGY
RAIN SEMESTER 2016/2017 EXAMINATION .

BIO 102 BIbLOGY FOR AGRIC AND BIOLOGICAL SCIENCE 11(3 UNITS)
TIME ALLOWED | HOUR DATE: 9-1 1-2017 -
Instruction: Answer all the questions. Each carries 2 marks
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13.

14.
15.

16.
17.

18.

20.

21.
22

23.
24,
25.

The final stage of decomposition by microorganism is called (a)compost
(b)mineralization (c) peat (d)putrefaction
The relationship in lichens is an example of (a) microbe &-microbe interaction
(b)Microbe-air interaction (c)Air—water interaction (d) Soil water interaction
The term given to a compulsory positive relationship is (a) Mutualisr (b)Amensalism
(c)Protocoporation(d)Partnership
Nitrogen fixers have the enzyme...... which helps them to lix atmospheric atmosphere
nitrogen.(a) Nitrogen fixase (b)Nitrogenase (c)Deaminase (d)amylase
An example of a symbiatic nitrogen fixeris.............. (a) Rhizobium (b) michoriza
(c)mycelium (d)Viruses
The interaction between a parasite and a host is called (a)Parasitism (b)Parasitation
(c)paralymphia (d)Paralysis
Which of these describes relationship between a predator and a prey? (a)Preyation
(b)Predation (c)Predatism (d)Predatorism
Neutralism occurs (a)When both parties benefit (b) when the neither party gain not loss
(c)when all the parties agrees to benefit,
The conversion of sunlight and C02 into carbohydrate is collud (a)Photolysis
(b)Photonation(c)Phytation (d) Photosynthesis
8S......0nes (a)Biodegration (b)Biostimulation (c)Phytoremediation(d) Augumentation
Plants are autotrophs while ar'mals are (a) Heterophs (b)Hetrophs (c)Heterolyies
(d)heterotrophs
....... The following are micro- “Janisms except (a) virus (b) bacteria (C) fung: ‘r1)algans
In the mutualistic association ..-tween ruminants and microbes, the microbes czin
shelter from the ruminants, while supplying the ruminants with......(a)Energy(b)water (c)
oxygen (d)food
The process of converting nitrates back to atmospheric nitrogen in the absence of
oxygen is called (a)Densification (b)Deherification (c)Deansylation (d)Denitrogenation
Chemicals that show complete
A process by which microbial organism transform chemicals in the environment is’
known as BIODEGRADATION
One of the following is not a type of pesticide (a)Fertilizer(b)Fungicide(c)herbicide
(d)Acaricide
One of the following is an example of an agrochemical (a) Pestici imi
(c)Hydroca;{bons (d)soil conditiozer ? Rl (6} Petickin (7 g g
............. nd......., are types of bioremediation (a)onsi in si
ggshore éc):ﬁshore and recycling (d)in situ and Ex(sizg S G
19. ertilizers are grouped into... ....and...... a ni in organic
in soluble (c)organic and soluble (d)inorganic and l(n ):orﬁxab: el o SiE
Acaricides are.............. (a)Pesticides used on arachnids (b) chemicals used of insects
(c)chemicals used on snails (d)chemicals used on weeds
lAln.»gantled vegetation are are called (a)grass (b)weed (c)herbs (d)shrubs
cid soil are neutralized by adding (a)calcium adding mi id sulphi
(c)carbonic acid (d)acetic acid Siss gk v veet e
Fertilizers are used to (a) Enhance and alleviate nutrient deficiencies in soil (b)Kill
mi(r::;]oorganisms (c)Neutralize soil (d)increase biodiversity .
emicals used to control weeds are called (a) In: ici iCi
He rbi_cides (d) Weed kille (a) Insecticide (b) Weedicides (c)
ab":eh:é: t(:)ff :he folliowing allows yo;: to differentiate lizard and snake? (a) presence and
absence he r:%se 51 ig presence or absence of eyelids (c) Eclofhermsc (d) presence or
41
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______ o .. =
“Wie (IOWING are unique to mammals except (a) EN¢ "
oo " a (b) Urodela (C

: ‘)”d:: gdf)"«i:r':ibians do frog and toad pelong? (a) Apoda (b)
tein called (a) scas (b) Keratin (c) Precous (d)

. "Salamander ‘

28. Birds feathers are made of versatile pro |
flight? (a) Bony tail (b) W

(c) Cycads (d)

) Anura (d)

ell

Hollow . ik
29. What skeletal adaptations do t(,g;s h”a:ve to ena
developed legs (c) fused bones (d)feathers A Boils
30. Flowgring éﬁms are known as (a) Gymnosperms (b)'Fruiting P
nts one of the
31, Rﬁmﬁz\;‘;&is have (a) Monocot root(b) Fibrous root (¢) Tap root (d) N
32 alt:g:’[.::rrna:ophytes a sperm (di All of "(’j?v;?;:e
33: The name of a plant species co first refers to (a)
(b)binomial (c genus (d)order .
34. The plants that shed their leaves in dry seasons are
(d) All of the above

Deciduous (c) Pine plants .
i h of Botany that deals with (a)D
R o sriee 4 All of the above (d) None of the above

35.
i nt (b) different species of plants (c) ve
36 en‘l\'l::l;llr:;‘:er f'n;y be regarged as the part of the shoot specialized for (a) Good scent (b)

Decoration (c) Reproduction (d) Respiration
(a) Naked seeds (

37. Gymnosperms are known as
38, Pollination in gymnosperm is only through the agency of
Birds (cl) Snakes . _ . )

39. The highest taxon in the classification of organisms is the..

Species id) D ain y
g i ' e (z) Generic and orce” names (b) S:ecific and
sSpeciii’
(a)

Every organist:s should in taxonomy hav ‘
order names (c) ‘ Siass and speific names Z) Generic &n .
fication of organisms can be placaa into Taxon

es

41. Mushroom in e general classi
Domain (b) Prokaryotes (c) Archae (d) Eukaryot _ ) '

42. Systematics and taxonomists has considered number of criteria for the classification of
organism (a) 4 (b) 3 (c) 5 (d) 2

43. The father of plant botany is ............. (a) Theophrastus (d) Aristotle (c) Andrea
Cesalpino (d) Carl Linnaeus

44. Correlative characters decrease from (a) species to kingdom (b) kingdom to species (C)

Phylum to Subphylum (d) order to family
In the plant kingdom, spermatophytes are (a) Cycadales and ginkgoes (b)

45.
Gymnaospermae and angiospermae (c) Cryptogamia and angiospermae (d) Pteridophyta

and bryophyte
46.  The cryptogames are otherwise known as (a) Shrubs (b) Seed bearing and seedless

plants (c) Seedless plants (d) Dicotyledons
47. .. Homo Sapien belong to the order (a) Vertebrata (b) Mammalia (c)Primate (d) Homo
48.  The principle which recognizes that organs of common ancestors to show the same
« - basic structures, same general relationship and same pattern of early growth are (a)
Homology (b) Analogy (c) Convergence (ci) Phylogeny
49. o Thopnnomle of the first letter of the epithet being in small letters conveys the rule of (a)
Systematics (b) Taxonomy (c) Binomial Nomenclature (d) Carl Linnaeus Nomenclature
Organisms with rigid cell'wall and photosynthetic pigments are called (a) Plants (b)

re known as (a) seed (b) Angion (c)
nsists of two parts, the

called (a) Flowering plants (b)

b) Gymnos (c) Aand B (d) None
(a) Air-current (b) Animals (c)

__(a) Kingdom (b) Phylum

4.

5 50,

et gnlmals (c)Bacteria (d) Viruses
e VMCB'N plants belong to the kingdom (a) Animallia (b) Protista (c) Plantae (d)
5252 “reessseriminsniid and are lower plants (a) Licher - ind Fungi (1) Algae and Moth (e) Agas

and Fungi (oi) All of the above
53.  On the basis of the various conducting tissu:

(d) 2
142

ints are subdivided into (a) 5 (b) 7 (c) 9

othermia () True Mammary S

71.
72.
73.
74.

75
76.

77.
78.
79.
80.
81.
82.
83.

and co <) All of the above
The leaf is the plant's primary (a) Sunlight collector (b) Sh
Seed bearing plants produce (a) Megaspores b) Universa

Seed Ferns

Angiosperms are the most successful plants in terms of (a) Diversity (b) Num
Distribution (ci) All of the above
Double fertilization is a distinctive
None of the above (d) All of the above
Vascular plants are plants with (a) Vascular tissues/bundles (b) Vascular me
Food fibre (d) Conducting pores

Non Vascular plants are (a) plants with tap root system (b) Seedless plants (c) A and B
(d) plants devoid of conducting tissues/vessels

bers (c)

feature of flowering plant life cycle. (a) false (b) True (c)

mbrane (c)

any (ci) Plant sciefice:

is the study of plants. (a) Zoology (b) Biochemistry (c) Bot . ‘
i lled' (a Physiology (b)  *

b

....... fhe study of biological forms via their internal structures is ca

- Anatomy (c) Dissection (d) Radiology -

___.is the study of various chemical components and their functions (a) Biological
science (b) Biochemistry (c) A and B (ci) None of the above

_......is an example of Bryophytes except (a) Ferns (b) Mosses (c) Mold (ci) None
Lower plants are regarded as (a) Plants of relatively simple and primitive characteristics

(b) plants of low origin (c) Plants of low status (d) Unique plants
Genetics is the study of (a) Reproduction (b) Safety of offspring (c) Disease control (d)

Heredity and variation differences
Horn-wort are bryophytes belonging to the class (a)Antheroceae (b) Phacondocea (c)
Origoaccae (d) Mycoaceae

The outer layer of the epidermis protects i = g+at from .....(a) Loss of moisture (T) Loss:
of weight (c) Excess heat and teinperatur. .2, - vading microorganisms

Some chemical substances secreted by suui s have ail except Acclivity (a) Ant-
flammatory (b) Antibiotic (c) Anti-tumoral () Anti-vacterial.
....were long thought to have diverged from other animals (a) Cnidaria (b) Nematoda (c))

Porifera (d) Annelida

Terrestrial annelid without parapodia, characterized by a sadddle like clitellum is (a)
Leoch.(b) Earthworm (c) Nereis (d) Tapeworm

Major classes of Echinodennata include the following except (a)Arachnoidea (b)
Asteroidea (c) Ophiruroidea (d) Crinoidea

Sexual reproduction and gonochoristic or hermaphroditic characteristics is found in all
except (a) Earthworm (b) Sandworm (c) Pin worm (d) Leech

Where do amphibians lay their eggs? (a) Tree (b) Leaves (c) soil (d) Water

To what order do horses, gorillas and koalas belong? a) Mammals (b) reptiles (a)

A.mphibians (d) Aves
Birds carry out gaseous exchange through.......... (a) Coacal (b) Lungs (c) Heart (d)

Nostril
Which of the following is adaptation to prevent water loss in land animals? (a) Modified

kidney and slat gland (b) Having a layer of blubber (c) having gizzards {d) having

elongated cecum
Most amphibians have ...... fertilization(a)internal (b)external c)closed (d)extended

Mammals retain the heat they produce by.. (a)by panting and sweating (b)hairy gizzards

(c)migration (d)having hairs
many stomata guarded by guard cells are vital for (a) photorespiration (b)

ghemosynthesis (c)respiration (d) photosynthesis
0dy cavity as true coelm is known as (a)lophorate (b)coelomate (c)eucoelomate

'gd)acoelomate
roduce secondary xylem and phloem (a)vascular cambium (b),peride (c)pheliogear

(d)dermal tissue
internal parts of the leaves in dicot plants include the following except (a)micropyle

~xamy - of an angiosperm plant (a) Mango plant (h) Cashew plant(c)Rir ¢

ade (c) Shape (d)Power house.
| spores (c) Vascular plants (d) ~.
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92.

93.

95.
96.
97.

98.

99.

100.

Ymesophyll (c)epid

ascular bundle oidte
Phylum with spiny sk n;:i (adf)\‘i':\:! s called (a)arthropod (b)- echinodermata (€)
(d)mammalian

' king food
The tunction of lymphatic system is to (a)absorb food molecules (b)breaking

(c)provide support (d)transport excess fluid , itachment (c)insulation
Adh‘mm ttmugg -ser(vu)s prin?:arlly for (a)mineral storage (b)muscles &

(d)abmp‘k)“ ) fun
" ........and bacteria domain contain prokaryotic Organisms.(ﬂ)

d)protozoa it agrochemicals
Sﬁhmnimts used in agriculture are collectively called (a)additives (0)ag
(¢)organics (d)fertilizers o an example of
The use ol Snicmmgmnsm in the produgtion (o({ )¥O%ht\ijonn2.|om milk is a p
biotechnology (a)new (bapplied (c)moderm raditiona’. b)random
rDNA technology is short for (a)ribosomal deoxynponuglm_c aci% 1%(:)':22(')0"?& r(1 a:\t
deoxyribonucleic acid technology (c)rapid deoxyribonucleic acl (

deoxyribonucleic acid. rqanism
The tmnsler of genetic material from one organism to another u%ually #gr?;?et;??d?rgRNA
to impart new trait is known as technology (a)cDNA (b)rONA (c)Gene e which was

An organism containing genetic materials from another unrelated orga e

introduced through the tools of biotechnology is caileq (a)Transgenic orga

(b)transgene c)genetic organism (d)mutagenic organisms ‘ _
Bacillus thuringiensis is renowned for its production of a protein blotechno|gg|ca|ly expl(:ute;if
in (a) control of insects (b)improvement of nutritional value of crops (c)improvemen

gi (b)achae (e)virus

resistance of abiotic stress (d)improvement of shelflife of crops . _
Flavrsavr is a genetically mortified tomato variety for (a) improved h‘er’bumde resictance
(b)improved shelt iite () improve yield (d)improved resistance to abiotic stress

golden rice is genatically im,3:¢ o d rice containing genes for the biosynthesis af
(a)vitamin A (b)amino acid (o)i-taotene (d)Vitamin C

Monoclonal antibody technoiogy is a biotechnology approach for enhanced (a)animal
productivity (b)reproductive rate (c)diagnoses of diseases (d)resistance to abiotic stress
Concerns and risk associated with genetically modified organism ten be broadly
categorized into the following except a)ethical (b) Environmental (a) Socioeconomic (d)
Legal : .
GMO means (a) Genetically marketed organisms (b) generally modified organisms (a)
Genetically modified organisms (d) Genome manipulated organism

Lack of precision anti predictability is one of the advantages Oy oo » Approach in
breeding arid selection of organisms (a) traditional (b) foreign (c) Local (4) Biotechnology

Solution to 2016/2017 Exam
1) 263 40) 50071080 30 10) 1) 2 3] 1.1 5 BIODECRADATION
1) ) 00 19020210 21250 24) 250 6 270 280 280 0 310120
534 ) 5003 T ) 0. 4041 200 S ) 4. ) Bl 6047 8 0l
50 1) 54540 540 51 6. 5. 8 0.0 )4 62) 654
g?((aa))sgz(aztggzs)aa(:&ga(ﬁd: 1)7)0'&?(7)13(76)( gzé(g) TR {75475, 8) 7.5 781 o 80

.18) 82.(0) 3.a) &4.a) 82.(). 86.(a)87.() 88,0} 89,0} 90 ) 91 (a) &2
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